
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

1, 85 × 1000 = ________ 2, 546 × 10 = ________

2, 575 × 100000 = ________ 7, 325 × 1000 = ________

4, 432 × 100000 = ________ 10, 594 × 1000 = ________

7, 966 × 1000000 = ________ 8, 29 × 100000 = ________

9, 958 × 100000 = ________ 8, 642 × 10000 = ________

9, 412 × 100000 = ________ 8, 762 × 10 = ________

7, 755 × 10 = ________ 2, 549 × 1000000 = ________

10, 223 × 1000 = ________ 7, 113 × 10000 = ________

7, 008 × 1000000 = ________ 5, 726 × 1000000 = ________

2, 581 × 100 = ________ 9, 904 × 100000 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

1, 85 × 1000 = 1850 2, 546 × 10 = 25.46

2, 575 × 100000 = 257500 7, 325 × 1000 = 7325

4, 432 × 100000 = 443200 10, 594 × 1000 = 10594

7, 966 × 1000000 = 7966000 8, 29 × 100000 = 829000

9, 958 × 100000 = 995800 8, 642 × 10000 = 86420

9, 412 × 100000 = 941200 8, 762 × 10 = 87.62

7, 755 × 10 = 77.55 2, 549 × 1000000 = 2549000

10, 223 × 1000 = 10223 7, 113 × 10000 = 71130

7, 008 × 1000000 = 7008000 5, 726 × 1000000 = 5726000

2, 581 × 100 = 258.1 9, 904 × 100000 = 990400
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